Questions about Rational Functions
]
1) Use the letters A-L to match the graphwith its function

2) Give at least three separate reasons why this graph matches this function

graph from 4 and Bf'fx) Zod Mis Graph ____
3x-6 3(x-2)

reason 1

reason 2

reason 3

graph from 5 f‘(x] 2r2I4 2(x2|2] is Graph _____

-6 3(e-2)

reason 1

reason 2

reason 3

Questions about Rational Functions
|
1) Use the letters A-L to match the graphwith its function

2) Give at least three separate reasons why this graph matches this function

x4 2)r2)

graph from 9 f'(x - is Graph ____
3-9  3(x-3)

reason 1

reason 2

reason 3

graph from 10 j'(x} rlo ﬂis. Graph ___

25 (-5)(x+5)

reason 1

reason 2

reason 3
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Questions about Rational Functions
]
1) Use the letters A-L to match the graphwith its function

2) Give at least three separate reasons why this graph matches this function

2eq (v-2)(x+2)

graph from 6 f'(x}
3207 3-3)(x+3)

is Graph

reason 1

reason 2

reason 3

R 228 2(x-2)(x+2)

graphfrom 7 fx is Graph
3

ad-1 (2e1)(ax2e2001)

reason 1

reason 2

reason 3

Questions about Rational Functions
|
1) Use the letters A-L to match the graphwith its function

2) Give at least three separate reasons why this graph matches this function

2

graph from 11 j'(x] i ‘k(x“‘) is Graph_____
21 (r-a)(era)

reason 1

reason 2

reason 3
2 Ty Iy

graph from 12 j'(x] 89 (xl l)(x J) is Graph ___
36 3(x-2)

reason 1

reason 2

reason 3
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Questions about Rational Functions
]
1) Use the letters A-L to match the graphwith its function

2) Give at least three separate reasons why this graph matches this function
x+1 x+1
2o 4)(xe3)

graph from 13 f‘(x} is Graph

reason 1

reason 2

reason 3

2243510 (x+5)(x-2)

graph from 14 _,f'(x)
2 2¢(x-5)

is Graph

2y —10yx

reason 1

reason 2

reason 3

Questions about Rational Functions
|
1) Use the letters A-L to match the graphwith its function

Which TWO functions had a hole? Graph _____and Graph ______
State the NEW functions for each of these functions

Graph is really

Graph is really

Briefly explain why a hole occurs on the graph of a rational function

4-21-22 Rational Function Connect Graph to Function.tns

Questions about Rational Functions
]
1) Use the letters A-L to match the graphwith its function

2) Give at least three separate reasons why this graph matches this function

2 =
graphfrom 15 f(x)=2 3210 (x-5)(x-2)

is Graph ___
aZopgy 25

reason 1

reason 2

reason 3

Questions about Rational Functions
|
1) Use the letters A-L to match the graphwith its function

Which three functions hada SLANT asymptote (these were not drawn on the graphs)?

Graph , Graph ,andGraph ___

Briefly explain why a rational function would have a slant asymptote
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